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PART -A
GENERAL ENGLISH
{Marks : 25)
They haven’t gone to the temple.
Choose the correct question tag to the sentence.

(1) Have they? (2) Arc they? (3) Haven’tit? (4) Hasn’t they?

Fill in the blank with appropriate word from the following.
Auden's poetry is infused __ humanistic feelings.

(1) for (2) in (3) with (4) on

The teacher said to the boy, "Get out of the class".

The above sentence can also be expressed as:

1) The teacher requested the boy to get out of the class.
%2) The teacher ordered the boy to get out of the class.
(3) The teacher exclaimed that the boy should go out.of the class.
(4) The teacher said to the boy to go out of the class,

Identify the grammatically correct sentence.
(1) 1am tired with writing to him.

(2) She has been written a book.

(3) Share the dinner among you to.

(4) He doesn't jump to hasty conclusions.

The eyes are called the windows to the soul.

Identify the parts of speech of the underlined words.

(1) Adverb, Adjective (2) Verb, Noun

(3) Verb, Adjective (4) Noun, Adjective

Very few cities in India are so big as Chennai.

The above sentence can also be expressed as:

(1) Chennai is not the biggest city in India.

(2) Chennai is biggest city in India.

(3) Chennai is bigger than most other cities in India.
(4) No other city in India is as big as Chennai.

[P.T.O.
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Do you know how to write essay?
Choose the right word to fill the blank.
(1) one (2) the (3) an (4) a

We have arranged

Complete the sentence using appropriate part of the sentence given below:
(1) looking after the dog next week for someone.

(2) to look after the dog next week for someone.

(3) someone to look after the dog next week.

(4) for someone to look after the dog next week.

Which of the following word is wrongly spelt.
(1) priscribe . (2) rusticate
(3) unwholesome (4) comprehensive

Identify the pair of words that rhyme with each other.
(1) vales : hills - (2) brecue: lie

(3) glee : gay l (4, siine : line

He is poor. He is honest.

Which of the following is the right senteiice when the above sentences are combined?

(1) His honesty made him poor

(2) Inspite of his poverty, he is honest.
(3) He is honest but not poor.

(4) He is poor not honest.

He said to the boy, "Are you coming?"

Which of the following is the right way of reporting the question?
(1) He told the boy if he was coming.

(2) He asked the boy was he coming.

(3) He asked the boy if he was coming.

(4) He told the boy were you coming,.

We sat the tree to rest. Choose the correct word to fill the blank.
(1) up (2) below
(3) under (4) among
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He was profusely talented. Choose the correct meaning of the underlined word.
(1) enough * (2) limitation
(3) dearth (4) abundantly

15-18.'Read the following passage carefully and answer the questions.

15.

17.

18.

19.

Mahatma Gandhi believed that industrialisation was no answer to the problems that plague the mass
of India's poor and that villagers should be taught to be self-sufficient in food, weave their own cloth
from cotton and eschew the glittering prizes that the 20th century so temptingly offers. Such an idyllic
and rural paradise did not appear to those who inherited the reins of political power.

Fill in the blanks choosing appropriate answers.

According to Gandhi, can be turned into "idyllic and rural paradise’.

(1) urban area (2)city . .. (3) town (4) village

Gandhi's views opposed industrialisation of village because

(1) it would undermine self sufficiency and destroy the beaut: o1 life of the villager.
(2) it would take away the skill of the villagers

(3) it would help the poor and not the rich.

(4) it would afft_:ct the culture of Indians.

Gandhi's dream of an idyllic and rural parad sc was not shared by
(1) those who didn't believe in the indusirialisation of the country.
(2) those who inherited political povwr 2iter independence.

(3) those who called him the Fatherof the Nation.

(4) those who believed that villages should be self-sufficient.

The basis of an idyllic and rural paradise is _

(1) supporting those holding powerful political positions.

(2) bringing to the villagers the glittering prizes of 20th Century.
(3) self-sufficiency in food and clothes and simplicity of life style.
(4) rapid industrialisation of villages.

The meaning of 'the glittering prizes that the 20th Century so temptingly offers' is

(1) complete removal of poverty (2) replacement of rural by urban interests
(3) absence of violence and corruption (4) pursuit of a commercialised culture

[P.TO.
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Identify the correct sentence.
(1) I hear some noise.

(2) Ihere some noise.

(3) I hearing some noise.

(4) Iam hearing some noise.

[ purchased a book. It costs rupees hundred.

Choose the sentence you get when you combine the two sentences.
(1) I purchased a book as it costs rupees hundred.

(2) I purchased a book when it costs rupees hundred.

(3) I purchased a book which costs rupees hundred.

(4) I purchased a book while it costs rupees hundred.

Choose the correct sentence from the following:
(1) Shiva is eaten the mango. (2) Shiva has eaten the mango.

(3)' Shiva was eaten the mango. (4} _Shivewill eaten the mango.

This is useful form of activity.
Choose the appropriate word from the {oli>wing:

(1) any (2) the (3) an “4) a

Preparations are being made for: her marriage by her parents.
Choose the correct active construction sentence.

(1) Her parents are being made preparations for her marriage.
(2) Her parénts are making preparations for her .marriage.

(3) Her parents make preparations for her marriage.

(4) Her parents is making preparations for her marriage.

The proposal was denounced by one and all. Give the antonym of the underlined word.
(1) commended (2) appraised

(3) pronounced (4) announced
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PART -B

GENERAL KNOWLEDGE

(Marks : 25)
If majority of students are backward in your class, you should
D BENDE’ Iy 308 Dogeen Dikoged Etond, A

(1) keep your teaching slow and provide additional activities to bright students
QTS0 HESSBHT, BOPD 708 eSS Kmrsoio soTd.

(2) bring change in the language style.
a72r 3O SrEnETd

(3) not care about it as bright students suffer.
BERS oien erEHETD S8 o) BY), DAY

(4) reduce your speed of teaching.

&5 DR BRoTO
Good learning is a function of:
009 g8 (FN0chso :
(1) teachers' scholarship and research (2) "teachers' dedication and interest
EP A0 TPodBo B0 DOFES S TROI00 9088 IS SoBukL &HED
(3) availability of modern communication devicis~.(4) Principal's leadership and dynamism
eIGOTHS PR TR 9080 @W&d}sﬁ TPAK0EBL0 SoBoK P50

Teacher's performance can be rightly ass¢su2d in terms of:
STEREN0D BABTRY BIE HOM erot i BuSsy
(1) The speed with which the t=acher completes the syllabus.
GITrgO0E) ERETDEN0 LRERR0 DT 2363
(2) Student - teacher relationship.
Dwsd‘gega éﬁ“o“goini)é SoG3g o205 aaeg
(3) The quantum of modification in the student behaviour.
TG0 (EHESE SO AGo SrEe 263
@ r=) -0 [X]
(4) Marks secured by the students.
dorgyen TPHODS BICoY R0 233
Complete silence in the class room is an indication of:
HEND HOS g Vyer) ATIoBO :

(1) lack of interest (2) fear of punishment
(cla SEPSc0 SO giaho
(3) class room management (4) good teaching
BHENS QIS0 3009 &5 !

[P.T.O.

s D



Indiavidya.com

30.  The teacher's primary responsibility is:

31.

32.

éﬁ‘c'%oﬁ.}@ (2263530 §g;55o
(1) Implementing administrative policies.
TPOT® DG e €3580508)

(2) Keeping class room records.
| BORS SIS DE© DGET0EE
(3) Planning educational experiences.
ATGBT OB (HerddEBotats
(4) Promoting human relations with parents.
DTG0 BOGOEDOE BID HoworTre WoroBosuty

A good teacher
¥ Jo0d eﬁ"c:“esomcio

(1) Possesses good students.
B0 g8 ot
(2) will have good companions.
D00 DI BB Pocsads
(3) gets the honour of the parents.
Do B0 Ho0d A (HFode) e
(4) has self satisfaction.
€5y DoBy Fotois

The most appropriate meaning of learning is:
©EI5R50 Clook), B0 HOARH 8o D8ST :
(1) development of skills

SRETRNR
(2) aquisition of knowledge

2273 VRIS

3 &
(3) modification of behaviour

(eSS0
(4) personal adjustment

9588 Deere
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The classical dance of Andhra Pradesh is

e30(¢S (DOE rodTrakd By&s0

(1) Mohini Attam (2) Kathakali
VT @80 559

(3) Kuchipudi (4) Bharata Natyam
PG ' | 258 e

Intehational Literacy Day is observed on

OBTEAD eFTTHE BRI TreIoBattd

(1) October 24th (2) March 8th
S 24 378 8

(3) September 10th (4) September 8th
Do 10 wPoW 8

Who is the winner of Women's Foot ball World Cup 2011?
2011 01500 (590 52 Sowrde D)eserd DES IH5E?

(1) ‘Germany "~ (2) Japan
26 COTRD
(3) China (4).Englard

o° JOITold

According to the Census 2011 which.¢f ti2 following has the least population?
2011 2350e3S (500 S (308 TS Ld BE)D worer K0d 87

(1) Dadra and Nager Haveli (2) Laksha Dweep
TS $50B0%0 HKE TP oghden

(3) Daman and Diu (4) Puducherry
o908 Hoda%s Gako Folatimys

Who was the chief guest of Republic Day 20127
2012 o1 B398 T &y Soogg 98 507

(1) Dimitri Medvedev (2) Hu Zintao
03 2B0S T Boers

(3) Ban ki Moon (4) Yingluck Shinawatra
e § oS gohef DSsEe

[P.T.O.
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While introducing a new topic or lesson, the teacher should begin with :
28 (§8 Fror0d800% (DY ERITY S TTanoth> ST rEoDoBsDsd.
(1) an explanation on the importance of the subject matter.
FERAD S00gpgEsiso DSOBHIE
(2) the teacher's interest in the subject.’
&3 FEINON0E’ ETEToN00D PEDE
(3) the related knowledge of the lesson already possessed by the student.
FeroTDE Honolodis ITY s oo
(4) an over view of the subject matter.

FEDREW DS DIGEE

Which of the following professions claims the largest membership?

4 (800 HB906° BAS’ ALY VELRITRE?

(1) Teaching (2) Medical
&dorgl 53 0598

(3) Law ' A (4) Engireering
TS sy 8

What makes teaching a true profession?
750350 DB DeiRS JYHT B0 ?
(1) teachers' professional orgaviszidons
G500 HHB Bopren
(2) discipline of its members
B3 Hghyo E308gEs
(3) along period of training
08¢ 35
(4) an attractive salary
eSS0 Baren
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Night blindness is caused by lack of which Vitamin?
2 DS BE) S &0sea0 S BK HB0y509

(1) Vitamin D (2) Vitamin C (3) Vitamin A
derow D e C DeEIS A

The biggest planet is

e B (RED

(1) Mercury (2) Mars (3) Venus
EuevNe S8y 8D

Aryabhatta was a renowned

esdsejeé: 2.8 @509

(1) Doctor (2) Physicist : (3) Poet
Dlsogeso FAST GG SN

Who was the founder of Mughal Empire in India?
PEBCFOS” DoNES FLT(e50 FDODDE ISE?

(1) Humayun (2) Baber
TR0B50aTS o

(3) Bahadur Shah Jafer (4. Akbar
oFErE X epd CLed

Alexander Fleming discovered
edrocsd HAooh SRR

(1) Pencillin (2) Computer

2OS S03ygeab
(3) Television (4) X-Ray
O3S 35‘3-6

The Indian Financial year commences from
BT B8 VOSSN SogsSocigd

(1) July lst
&g 1

(3) April Ist’
HGO0S 1

(2) March 1st
39y 1

(4) January 1st

2538 1

(4) Vitamin B
Derdos B

(4) Jupiter
eead

(4) Mathematician

He3sTg8

[P.T.O.
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47. Manmohan Singh has been honoured with a degree of Doctor of law by
oS 0ofid &b eH e GRS TE0DS6

(1) West Minister University (2) Harvard University
3§ 33:)15))5 3’553&3‘5&)01)0 :Jsdé 355301’590530
(3) Cambridge University (4) Oxford University
' Soi)g DgDTrpao ' esE56 DedTrgwabo

48. Reliance Cup is associated with which one of the following?
BoanS, £y B3 308 T3S EIE HowoBoDHE? '

(1) Tennis (2) Cricket
a0 365

(3) Foot Ball . (4) Hockeyv
DeSerdy o8

49. Ecology deals with one of the following:

o500 B2 $08 T3S 2.507D8 Howohod

(1) Animals
ezo&odHen

(2) Tissues
Eeelod

(3) Birds
DHeo

(4) Relations between organisms and their environment
EHen el oo $o55 Doworren

50. Which of the following is present in hard water?
grBeseoS08" B4 ($08 Te36° DO dotrod?

(1) Calcium (2) Chlorine
s*abo §85
(3) Sodium (4) Aluminium

FéohHo &DCD‘SZIJ:)OI)O
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PART-C
PHYSICS

(Marks : 50)

A thin film of refractive index 1.375 is coated on a glass surface. Light of wavelength 550 nm gives no
reflected light. Then the minimum thickness of the film is :

1.37sq§manm§ommmeogQrm.u&os"so'nmédongsorfos-oaa
SO0 DODHOGT ooy T S5 0060

(1) 500 A° (2) 750 A° (3) 1000 A° (4) 1500 A°

In Fraunhoffer diffraction pattern due to a circular aperture, as the diameter of the aperture increases,
the radius of the Airy’s disc

TLS™C Tx00 Sg A S TH6 IHGS Jrrod', Tyt TR o Airy's disc TgIgE0

(1) increases (2) decreases
paleTH R BIHS

(3) remains same . (4) depends on (he wavefront:
Qoorr&otioR BOOITYI0 S04 esprd SDELS0.

Iflight incidents normally on a plane transmission gritin having 5000 lines/cm, the longest wavelength
of light whose spectrum can be seen is :

2.8 2063256005 5000 Atsen fio 080 B 17 3R 508 ooworT SBIA, D KO3 BENRY;s SodE
S SESeTeY BoCEHoB0?
(1) 2x10*A° (2) 5x10*A° (3)2x10°A° = (4) 5x10°A°

In plane transmission grating, the angle of diffraction is :
D280 EIG Bedoh D5GS S'eo
(1) directly proportional to wavelength

BOOMPTN3 506 S8FHTBoS” dotois

(2) inversly proportional to wavelength
BENRT, 3 IS SFOTBoE’ &0t

(3) independent of wavelength

(4) directly proportional to grating element
Be3oh 30re57d2 s ST Eos’ doto.

[P.TO.
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A point charge ‘q’ is placed at the centre of a cube of side L meters. The flux through one face of the cube is:
L oexsy s 35> 30 oty $o¢5s Dot 3¢ ‘q° HerSoe Dot eiddo éod. 050 .8 Snpo
S00d %) edaso

9 4
M g, @ 3o

9 9
® Lo ) 3,
The maximum electric field that a dielectric can withstand without breakdown is called :
2.5 5550 osed MOR ;S § 00 S0 B0 dotiiot & HOH IS & werdy -——-- @00,
(1) dielectric constant (2) permeability

558 Yoroso DOL0DOeS
(3) permittivity (4) dielectric strcngth

005239e3 568 38
Gauss law is dielectrics is :
8¢’ B°5 dahsoo

- - = A
(1) {E-ds=é ) {E-dS=q¢,
-+ e d K - -

@) Jeds=_1 @ JrkEas=L

Capacity of a parallel plate capacitor can be increased by :
DSBS Hoko SI0ed daok), 3IeID DoTro
(1) increasing the distance between the plates.
oo Sog 6o word.
(2) increasing the thickness of the plates.
Jo%e Svodo DoTrd
(3) decreasing the thickness of the plates.
Soso oo BRoTd
(4) decreasing the distance between the plates.
St Sogs (o BhoTd
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The mutual inductance between two coils of inductances L and L, is M. Then
Ly, L, (83 o Boch Srisotye ¢y e g (063 M esoxd

() M=L,;+L, (2)M=%(L1+Lz)

(3) Maximum value of M = (L, + L, )2 (4) Maximum value of M = (L, L, )2
M 5832005 = (L, + L, )’ M 563 2e0 = (L, L,)?

Lenz’s law is the consequence of law of conservation of :
B0 D0 B3 Digihs DOHRTDS e50BEI[)

(1) charge (2) mass
DS gTRFO (555078

(3) momentum (4) energy
@SS #§

Betatron works on the same principle of :
Berers B @), Sr@o eprdorTy B3 DXk

(1) Generator (2) transformer
(3) galvanometer (4. s2l inductor
e oo S5a0 (%o

In LCR series circuit, the capacitanes s changed from C to 4C. To have same resonant frequency, the
inductance should be changed fran. L

LCR @e3 Soaod” 372023y Deussisn C iood 4C8 :,arqus»cs: SR RIRES % SRVg00 STEO0G EOCBIRY
JOLiEey) o0 L vod ————— 3 Sromd.

L L
(1) 2L @ 35 (3) 4L “4) 7

_In an AC circuit, the reactance of a coil is /3 times its resistance. The phase difference between

voltage across the coil and current in the coil is ——— radian.
25 AC Soabo &0 S Bty ooy, BATFES) T TGS |3 By 0. 00D A 598y b Tged
968" B0 $8060%H Sogsg ¢ 8650 ———— [eleer ey
= @) = @) = @) =
3 4 6 2

[P.T..
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In a negative crystal like calcite, the relation between refractive indices of extra ordinary ray (1)
and ordinary ray (1, ) is :

58 33 &roed 23069 eIstod’ et 86 SIS foeato (1 ) S00aks Fertes §6e SIS Measo

( Ko ) © ;’.)0455 E()peaodo

) o =pp - () Ho > pe

(3) pmp <pg 4) po <pg

In a quarter-wave plate, the path difference between ordinary ray and extraordinary ray is :
BBToF B0 oo 008 DO TG 0BT LTS e 0G5 Seroso

A A
Mm 3 @5 3) A ) 2

In He-Ne laser, laser action takes place between :
He-Ne 8:3568° De3u0¢5g 856 1565 e:60rio.

(1) the energy levels of He only. {2) the eaergy levels of Ne only.
He 8 Jroooe So¢y 5@y Ne 1§ Jroxe 5065 S @

(3) the energy levels of He and Ne. (4) the mirrors of optical resonator.
He 5500300 Neo 3897000 S50¢5 GYT° RO SEETO 50655

The wavelengtﬁ of light emitted by Ruby laser is :
&) 896 DeosBoD Pod BENRY o

(1) 6329 A° (2) 5461 A° (3) 5893 A° (4) 6943A°

An electric dipole is placed in a uniform electric field. It’s potential energy will be minimum if the
dipole moment makes an angle —— radian with the field.

2.5 D058 SIS 2508 e5FBOS” eod. T xS risato Acogh §Eos T Seso - By and
o 98 8 JPorr Gotwod.

1 o. 2) n

3
® 5 @ 5
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The workdone in placing a charge 8 x 107'8 C on a cpacitor of 100 pF is :
100 pF 3J0eab% 8 x 1078 € desogmrdio g5gerdd BoDmeds 39

(1) 8x1071%y (2) 3210727
(3) 16 x 10732} (4) 8x107%]

The relation between magnetic susceptibility (x,,) and relative permeability () is :

eaoTm,08 Fded (), ) SoBoxn Fog BDYB0B (1) © B0 Ho2oo

(M) (M, = %) =1 @) (1, +1,) =1
, u,
() (1, — %) =-1 @ =1

The core of an electromagnet is made of soft iron because soft iron has :
DEo5E50HI08 §B0 Dooded 3508508 S DI, IO Diaied 35050080

(1) low susceptibility and low retentivity
‘:6?0%3?3)@&3 B, oBaxw 0eJoe3Nel &5

(2) high susceptibility and low retentivity
é?o?gi)é’)ej NEGRSINLIG oM ey B&30eIDe3 B

. (3) high susceptibility and high retentivity

03RED3 Iy Ho0a0 BEBoeIDed DS

(4) low susceptibility and high reteziivity
é?og_;é’)@d B 0B Bedoe o3 QKD

The Hall voltage (Vi) and the concentration (1) of the charge carriers in a meterial are related by :
28 Dgod” 5 TP (Vi) 5000000 eidd arimsme Jrogsd (n)o B0 Sowoso

1 1
(1) Vyoan (2) Vya (3) Vyar? (4) VHa;;

In a cyclotron, the time taken by the ion to travel in a semicircular path is :
PSS TS 57008 warso EarelonEdS 56y o

1 t.—.m . 2 t=B_m
M Be @) e

_ Be _Bem
(3)"5 @) ==

[PTO.
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In LR circuit, if the value of resistance is doubled then its time constant will Be LR :
LR Secod” 980 Deossis Bejo By e Soabo 5o Joroso

(1) doubled (2) halved
BeJousririo RIIRSTSE
~ (3) does not change (4) becomes 4 times
BT - 43 erOio

Poynting theorem is :
Jraoooedoh deroBo

(1) Work-energy theorem of Electrodynamics
D55 K505 T-Po&’ H-§ NCFOoBO

(2) Work-force theorem of Electrodynamics
DS 10 TZoS" HI-200 DFoso

(3) Energy-force theorem of Electrodynamics
DeFERD TS’ 3-8 DFoso

(4) Energy theorem of Electrodynamics
DSBS TP’ ¥ dryoso

The velocity of an electromagiiciic'wave in a medium of refractive index 9 is :
9 &I KOERs0 o ATHEOE’ DeSogiasnIY 08 Bon Mo

(1) 2.7 x 104 m/s _ ) 3 x 108 mss
(3) 3.33 x 10" m/s (4) 0.33 x 107 m/s

Which of the following is not a Maxwell’s equation :—
Eod 736 STERS vosGe0 08

N V‘_Ei:lp (2) V.B=0
€

-

oB

(@) VXE=-"" (4) VxB=p, |
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Which of the following represents Carnot’s cycle :
2o DIS° DO 557 VIES B IRes?

N y
() G @
- —~t——s
S S
ll\ P/\
3) @ |
S \Y

10 g of ice at O°C is converted into water at the same temperature. The change in entropy is :
(Latent heat of fusion of ice = 80 cal/g)

0°C 5¢ &) 107 S0 et GRS 5¢ DT B0, ©0wd Joks™E" R 5ty (Soois 5D
g0 80 80b /)

(1) 2.93 cal/k (2) 293 cal/k (3) 3.93 cal’/k (4) 4.93 cal/k

The Clausius-Clayperon equation is :
TROHD - F2TS HadSGE0

ar_ 1T dr 1
M ar~w, -») Car ~w,—vyr

ap_{,-W ap_ 1
® ar” ir @ 41~ W, -v)LT

As the temperature of a black body increases, the wavelength corresponding to the maximum radiant energy.
0,500 SIS 200D KBH D86k 758 BowOQODS HEOK BY 590

(1) Shifis towards shorter wavelength (2) remains same
B BN 50 PP LDEI0FSN Do, QU0 €:0¢2i5

(3) Shifts towards longer wavelength (4) depends on the black body
255 BEONGI0 P oo Do 35,5009 Bo6s eproBeEsso

According to Rayleigh-Jean’s law, the radiant energy distribution is directly proportional to
(). -wavelength)

8848, 5o ©s<to D8 #3 50Es IS S SR B’ Gotids A -BGoK PY §50)
(M A (2) 22 G) 2 - @
[P.T.O.
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Which of the following is not correct under the action of central force?
Sohab et AXEHoS” D6 HOGWHHO 579

(1) Work done in moving a particle depends on the path followed.
2.5 5670y SHO0NEIE DD 1 T BE0 D6 BTGB,

(2) Torque acting on the particle is zero. A
500 Qo3 D DAy €7y, W0

(3) Angular momentum of the particle is constant.
s el (Egis oI &0t

(4) Areal velocity of the particle is zero.
Seasion A3, DT OMI0 QOO GO

The time period of a simple pendulum of infinite length is (R-radius of the Earth) :
@508 Jreipio 0w Seso My, BBER S0 (R-400Two)

() T=2n fﬁ () T=ftn‘[£
g ~ J2g

(3) Infinity 4).T=2n \E
S5OB50 g

A particle is executing S.H.M. alopg o straight line with amplitude ‘A’. The potential energy is maximum
when the displacement is :

2.5 8603500 A7 S0 DBNAE Niiede Do HEY TS o858 ¢od. i) 355@’0%533 Q0B &P

29 3 HOFOTT Eotiiso?
(1) xA (2) Zero ‘
A A
2 TR
() =5 4) 2

The relaxation time (t) and the Quality factor (Q) of a damped oscillator are related by ( « -angular velocity)
@350 Eofo @), oo S0 (1) Sod0s Q — KHEsin (Q)e S35 dowogo (@ A o)

1) Q= ot @) Q=7
2m ®
Q=" @ Q=5
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- - - — >, — - -
If A and B are two vectors such that { A + B| =| A =~ B| then A and B are ——— to each other.
- o e - s
A+Bl=|A - B| ®0owd 38%0 A 5800 B e
(1) Parallel (2) Perpendicular
DATOHTOMT® &0l  ©00T" SOl
(3) Antiparallel (4) Cannot be determined
B BBTOBEOT ot 253y B3

A bread gives a boy 5000 Cal. How much height he can climb using this energy if his efficiency is
28%. (Mass of the boy = 60 kg) ?

28 erends 2.8 @6 5000 3obe 3303500, w6 G5 28% €000, &1 388" Jod I8y I Netd? (ereod
25078 = 60 kg)

(1) 10m (2) 20m

(3) 5m ' ' 4) 15m

The product of moment of inertia and angular acceleration is :
23058 (@085, Seah Bgtere wgnw

(1) Force 2. Torque
2305300 e,

(3) Linear momentum 7 (4) angular momentum
BB o5 Sl (535S

A particle moves in a potential energy field represented by U = Uy — Px + Ox*. The force constant
will be :

U= Up—Px+ Ox’ 3893 §B08" o8 Smad SOGH0. @00 010 Y0050 Jasis
(1 2Q ) Q-P
G)Q : P

[P.TO.
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At a given temperature, T the total energy radiated by a black body is d,i_recﬂy proportional to :
T &5 5¢ SR D) STREoD» 20080 366 7§ HIE e5S WP B80S’ &otido.

(T ) T

@) T 4 T

Maxwell-Boltzmann statistics is applicable to
SrERS-E G908 Hemossos Dedd $5:900

(1) Molecules (2) Electrons
EWNO QO

(3) Photons (4) Phonons
e Py

The minimum volume of a phase cell in Quantum mechanical system is (h-Planck’s constant) :
S0t QOB S5IRE° DS Gloot), S0P RNERrEs0 (bs 0§ Jorozo)

(1) 4% @) p4
3) -» - : (@) s
In Michelson interferometer, concentric ciruior jringes are produced when the angle between the

real mirror and the image of second mirno1is ————— radians.

WIS 395G S0E0S” IS0 HYFLTL Se3seo GYEeoid TS SGRETIE, Do Ge0 dns),
©S80erAS DS §%30 ——-- 6&oN W &0Gd.

T
5 @ =

T
3) 0 @ 5

If ¢, and a; are the amplitudes of interfering waves, then the maximum intensity at a point is :
J3B80E0 DoB VoL B0 505 HOoee @ 0000 a; 0% 2.8 Doty H5¢ magé@é

(1) (4 +a) @) (o + a2)2

B) (a +a,)" | @) (a, - a,)
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96. The velocity of a transverse wave in a wire under tension T is (p -mass per unit length)
T 83 o THENS SNS” SSE BN s ((p-Edores DS Ko (E550°3)

) f
o5 @ 5

. T
3) JTp @ o

97. In a stationary wave,the separation between consecutive nodes is () -wavelength) :
QU BT’ Dotk (%), BT B0 o ST (), -8B D 50)

A A
M x @ 7 3 5 @ 2

98. The ratio of rms velocity, mean velocity and most probable velocity of the molecules of a gas is :
TON0 SENHO S DD, e a0 S0B0K0 KO HoarSE 0o IHE

(1)~/§:\/'3_:‘E (2)5:\/5\!3
(3)\/3_,:\/@;\/5 (@i IS:JE:\/E |
T T

99. The viscosity of a gas is due to the trancpotation of :
TON0HE B PGS T°F HH0 DD IO QYIS DGR N

(1) mass (2) energy ‘ / ~
(9503 %3

(3) linear momentum (4) heat
Bhand (5980 €350

100g¢ a; and a, are the amplitudes of interfering waves, then the maximum intensity at a point is :
P-V 5708 3005 385073 e95703 B0¢S5 &89) 277050 B S00:)8000.

(1) Enthalpy of the system (2) work done on or by the system
D59 @00ty Jogrdy 5555 Qoes e3BRD ST 95 B 30
(3) Free energy of the system (4) Entropy of the system
SgIPa00, s D595 G008y, Joes'

[P.T.O.
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CHEMISTRY
(Marks : 50)
. Me Me
. e @ & @ ®
Predict the stability order of (A) Ph~CH,"; (B) ; (O) (D) cH,
Me Me Me
carbocations is :
Me Me
. o @
(A) Ph—CH,® ; (B) /QMC ; (C) 7 (D) CH; SEEOIE ROy ESB0
Me Me
& rotod.
(HY)A>B>C>D 2)yD>C>B>A
B3)C>B>D>A 4 C>A>B>D

Which of the following alkene gives acetone on ozonolysis :
od e38)508" DB Lerrodd 2BBITYE DS S0 3B9y0

(1) CHy = CH; (2) (CH3), € =C (CH3)2
(3) CH3 — CH = CH, (4) CH. - CH = CH - CH;
0 A~
Identify the major product in the followii i\ | i
>~

808 B BERRPD BT ST 080G

. @N N @/\
Cl
5 @* “ @/v\

Which of the following carbohydrates will not give red precipitate when heated ‘with Benedicts

solution :
od TERPGRS” 20 BASE) EHesnS JEY eSEIHD 95602
(1) Maltose (2) Lactose (3) Glucose @ Fruc;tose

(1) ar&E () o5 (3) KrE'E (4) G&F
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2, 4 - DNP test is used to identify :
2,4 - DNP 38550 —————— 35 /005085 3°¢oared
(1) Hydrocarbons = (2) Phenols (3) Carbonyls (4) Amines
TESGR 2T SERS SRS

The acetyl derivatives of Glucose and fructose respectively are:
1S Sodan PSS @IS el g’

(1) Penta acetyl and Tetra acetyl (2) Penta accty-{ and penta acetyl
D0erendld 5000k Serengdd 20er WSS S0 Woer BNOS

(3) Tetra acetyl and Tetra acetyl (4) Tetra acetyl and Penta acetyl
Sereddd Hodaky Sereddd Sereidlos 500010 Doer eddS

Pyranose and furanose forms contain , membered rings respectively.

205 oS JogTes , $O00 Dogy HD EH080E’

1) 4,5 (2) 6,5 (3) 5,6 (#) 5,4

[socyanide test is carried out by heating :

DF P BOE - 0 GEDoW0er0De LxHTD

(1) CH3 CO CH3/Ca(OH); (2) CHCl3 1TNO;

(3) CHCl3, Zn / H,0O (4).CHC:3, KOH, Ph-NH,

The main component of the cell walls in tho prant kingdom is :

DS ool ol o ofod STrEi

(1) Glucose (2) Starch
oS | SRS

(3) Glycogen (4) Cellulose
gEas Deogder

Identify the product in the following reaction :
Bod 565" edytysociag Sorgso

1. OJ L
2 H,07Z,
(1) Isophthalaldehyde (2) Teriphthalaldehyde
oferodirs S0 ar
(3) Phthalaldehyde (4) Benzaldehyde »
Ty Boerd e

[P.TO.

s D
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Arraﬁge N2, Oy and He liquids in the order of their boiling points :
Ny, O 200050 He o (570 erapeisidiare (§5050

(1) N2> 0y >He (2) Ny >He>0; (3) O >Ny >He (4) He > 03 > Ny

In a solid lattice if a cation occupies an interstitial position rather than its lattice site, the defect is called :
oieresnod” Storto VBTN $006 OB Jos SRS Seord BNV —— eoLrd.

(1) Schottkey defect ' . (2) Frankel defect
ey 550 03S S
(3) Line defect (4) Surface defect
Bar &5 T SAPONEY

Which of the following exhibits highest ionic conductance :
o8 T3S DB D LAY TEES (000

(1) H' (2) ou 3 a (4) Na*

Brag equation is given by :
PR HABERB0 FBRD

1 z_

_ I
(1) E = hy (@) n =2dsind  (3) V= .J% (4) AG =2h/872CI

Doping of arsenic in silicon generates :
2057 SE° e3> ES Dabir s,

(1) P-type semiconducts (2) n-p Junction
P-5830% eﬂga"?’.)"sinn n-p £°GO

(3) n-type semiconductor (4) compensated semi conductor
n-8803 @gw:rg;’m DIETeY eﬂgv?’.:"g;’};o

Liquid crystals do not exhibit :

55 B35 ©eEBB0

(1)‘Sharp melting point
BoB)G (GRS JHB30

(2) properties not common to either solid or liquid form.
200 ST (5% oG ITTed HETOLH Do (alop CHRESTRSEY

(3) Different orientation under external magnetic field
T SO 0BE0E" D BRAGTRBL

(4) Different orientation under external electric field.
eTECiSEEI0E" D BAFTES.
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The size of the atoms in a period from left to right :
DBADES” IeEB0G G PYHH HEATERD HBRTEH

(1) Decrease in size. (2) Increase in size.
$0rEas0d” B BOBER6" WO
(3) First decrease and then increase (4) First increase and then decrease,

a00Ciey &Bihey odoko BT DD 00658 DML oday BTG S

Which of the following pairs show the diagonal relation :
$ob aed” 8 58 Sowogrdy SrHBuod

(1) Carbon and silicon. (2) Boron and Aluminium.
Sy bahy 2OsTS H'0°S BB @erodabo

(3) Bemrylium and Aluminium (4) Oxygen and Phosphorous.
836900 BBk eerRdabo eadyess SoB0K erRIgEE

Which of the following has the largest ionic radius :(—
Bob T3S eBY ealrS TErgsL KON

() Lit (2) Na* 3) Mg?* (4) Cs*

The magnetic moment of a 3d transition metal icn ic 5.9 Bohr magnetons. Its electronic
configuration would be :

3d 505ES S5 o eobdYyoB Erake 5.9 SO Srmerty. oD Jogd daegssw
(1) 3d* @) 3d° (3) 3d® @) 3d°

The crystal field stabilization encrgy’ for high spin d* octahedral complex ion is :
B8 exEonsn $0AS d¥ epird todp o gy §ehbsse 3

(1) 14 Dq. (2) - 6Dq

(3) -12 Dq (4) - 2Dq

Which of the following compounds has the bond angle close to 90°
GobredS” BIS wo¢ Seatn 90° GO dotnod.

(1) NH3 (2) H,S
(3) HxO (4) CHy

[P.T.O.

ps D



Indiavidya.com

28
123. According to HSAB theory, which among the following is a soft acid :
HSAB 2tposd) esodod $od 738" 98 5otk es50%007 o

(1) F (2) Br
(3) H® (4) NH3

124. Among the following the tetrahedral bond angle is lowest in :
oSS BAF edBEyH SerarS 2068w Eotnod?
() Hx0 (2) CHy
(3) BF; (4) NH3

125. Geometrical isomerism is shown by :
SOT YD BEDOBNG

(1) Glyceraldehyde (2) 1-Butene
BROdared 1-ageds

(3) Fumaric acid (4) 1= Dibromoethylene
D508 esso LI ge o 26808

126. The H — C — C bond angle in cyclonéanc is close to :

28 3%56° H - C - C 2068 a8 % SHom dotnod Y\
(1) 60°. (2) 109°28' (1&\"
(3) 120° (4) 180°

127. In the addition of HBr to a C — C double bond the Hydrogen goes to the carbon which has
more hydrogens is known as :

C - C o8 HBr S $dbsipct rEed o0 rEases &b sHSH dHEY —--—

B0y,

(1) Hofmann rule (2) Saytzeff rule
Fo08 DoRH0 206585 D050

(3) Markonikof rule (4) Huckel’s rule

Sr605H DoKB SIS DA
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If the rate of the reaction between A and B is a[A] and a [;T] Then the order of the reaction is :
A 5080k B o Do7dnsn af A]asedoo o f-é—] I00BNE DO ($BTP0EH0

(1) Zero (2) One (3) Two (4) Three
%J““éé;’).u 2.%e3 [elea) S[aTe¢E

The vapour pressure of a solvent is 0.80 atmospheres When a non volatile substance 1s added its
vapour pressure decreases to 0.60 atmospheres. The mole fraction of the solute is :

2.8 E5E3 arsy Dessis 0.80 esergnoind. TrOd e ariydo DurEsn SOBBHE o) eracste 0.60
ST NONSE BIHB0D. TIEHD Wooly, DTEEFRSD
(1) 0.25. (2) 0.50 (3) 0.75 (4) 0.90

An emulsifier is a substance which :
5o8ypb esio B
Q

(1) Helps dispersion of liquid in liquid.

(55500, (E55808° IFIED BIFQHCEOD

(2) Stabilizes the emulsion
D09 ROV

(3) Purifies the emulsion
D> HESDOWED.

(4) Coagulates the emulsion
0P 0500 B

The minimum energy a molecule must possess to enter into a fruitful collision is known as :
POI0BD ETBIANE LEWLDHE &otdy Sf()‘c()%_%

(1) Reaction energy (2) Collision energy (3) Activation energy (4) Threshold energy
oegEd AR &0 93 estsorssd

The work down in the reversible isothermal expansion is :
&), oe30 HRRS 0" Boteds B

(1) Minimum (2) Zero (3) Maximum (4) Intermediate
850 500 OEI0 AR

[P.T.O.
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The electronic configuration of an element with lowest ionization energy is :
@ B WAbISGE 3§ SO Daresincin), JOFRo ITEEn

(1) 18% 28% 2p3 (2) 18% 252 2p®
(3) 182 252 2p% 352 (4) 18% 252 2p% 35!

The value of orbit angular momentum in third Bohr orbit is :-
BT 56 58" Sl @rsooo Deod

n 3h
() 27 ) 2n

27k 15k
(3) . 4 o’

The hybridization of atomic orbitals of Nitrogen in MO ,NO;, and &H , Tespectively are :
(1) SP%, SP? and SP (2) S#»SP* and sp3

(3) SP?%, SP and SP? ). P2, SP? and SP?

NO,,NO; Soboxn ﬂ;H4ee5“ DTS SCATEEY © HOSIIBERIN HEHEWOH00

(1) SP%, SP? 5080x» SP (2) SP, SP? SoBokw SP?

(3) SP2, SP su8ax» SP3 (4) SPZ, SP? 580 SP2

03 is:

0F ©os0

(1) Paramagnetic (2) Diamagnetic
SDTXar), 08800 50 Q0850

(3) Ferromagnetic (4) Antiferromagnetic

P 0,085 D HE 00,0850
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The bond order of NO molecule is :
NO ese05)adons), 220¢5E50500
(1) 1.5 2) 2
3) 25 @ 3
The molecular formula for Barazole is_: -
55 0 e PoSAEI0
(1) BoHg (2) B3N3Hg (3) B4Hyo (4) B3N3Hj2

BF3 is a more stable compound compared to BH3 because :
BH3& 9550 BF3 0008 H0Rp0 S0#55% Jotoss,

(1) Back donation of electrons from Flourine to Boron
FOS 500D H'0°RH JOF YOTH[0

(2) Bond dissociation energy of F; is higher than that of Hp
2065 IAITeSS 33 Hy %083 Fpi o

(3) BF Bond length is higher than BH.
BF 206585578520 BH 2008873500 5083 Qﬁ)b}ﬁ

(4) Electronegativity of F is greater than that of H.
F G308, 200es omensd H 508 5.5

Geometrical isomerism is exhibited by/:

S FCYEF0R0 HEBOBORG.
(1) Pt (NH3)2Clp (2) Pt (NH3)3Cl

(3) Zn (NH3)2Cl (4) Cu (NH3)3Cl

Solid CO; is an example of :

03 COy % 28 &t
(1) Tonic crystal (2) covalent crystal
eOPAY et SSodreRah Hedssn
(3) metallic crystal (4) molecular crystal
S 5i9)e3880 e 5edsho

[PTO.
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Arrange the following in the order of increasing acidity :
Gobred essoBiso DBR E00
A. Cl-CHy-CH; - OH ; B. CH3 — CHy — OH
C. CHj - CH; - NH,
() A>B>C ' () A>C>B
3)c>a>B (4 B>A>C
Find out the product in the following reaction
b 168" &omesy STrgR0do SH0RS0d

Me
300°

Cu

Me . Me

Me

Me

—C—OM .
@) Me T © (4) CH, — CHj - CH, — CHz

Me

Predict the number of Chiral carbons present in sucrose :
ES” I Zo°F SyseoTGIr KHdoB0d.
(1o )7 39 4 8

The function of Anhydrous AICl;3 in Friedel Crafts reaction is :
PGS T 365" e AlCh oot o0

(1) To absorb water. (2) To absorb HCL.
Q3D T80 HCIS0 8700306
(3) To produce electrophile. - (4) To produce nucleophile.

oS &ny3 Sriaryd &od3
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Gabriel synthesis is carried out for the-preparation of :
DA BOXrEH DoXesDH MAADS HBoFIERVE ESCIAIXD?

(1) Ethers (2) Alcohols
Bacshy €305

(3) 1° Amines (4) Carboxylic acids
1° es3ois ' 63405 esiTren

Identify the basic amino acid in the following
00 I8 36 T e85

(1) Serine (2) Alanine
2035 GOV

(3) Tyrosine (4) Glutamine
S5 1OLTS

D-Glucose and D-mannose are :
[rEer Sodaky $rShered

(1) Anomers (2) Epimers
Svatled - NESRERN

(3) Enantiomers ' (4) Isoniers
DTPAITRE DEEONLISILY

Salicylaldehyde can be prepared from purciol by using :
TS50 FOVTY L0 BT DAL TG

(1) NaOH/CCl4 (2) KOH/CHCl;
(3) NaOH/CH;CHO (4) HCVHCHO

Which of the following named reactions form cinnamic acid :
GobTe3E” D T B TR0 BHAE €555 AyEod?

(1) Aldol condensation (2) Cannizaro reaction
eserd HoR00RL 5028 505
- (3) Perkin Reaction (4) Benzoin condensation
20 Bs 202000 RHOPSHEWD

[P.T.O.
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SPACE FOR ROUGH WORK



